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Question Number : 1 Question Id : 26723610641 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



1.6 1 , What will be its 15" term?

(A) 46

(B) 76

(C) 66

(D) 71
Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 1 Question Id : 26723610641 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
1, 6, 11, e , 39 ¥|a # 15 df @ 1 AT

(q) 46
[?ﬁ'] 76
{ﬁ] 66
{g_ﬁ} 71
Options :
1.4 A

2. % B



3.% C

4. %D

Question Number : 2 Question Id : 26723610642 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Find out the missing term. in the series 300, 296, 287, 271, __, 210

(A) 246

(B) 250

(C) 244

(D) None of these
Options:

1.9 A

2. % B

3.% C

4. %# D

Question Number : 2 Question Id : 26723610642 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



yEe § TOar GBI F T T 300, 296, 287, 271, , 210

() 246

@ 250

(}‘ﬂ] 244

@) T A PR T
Options:

1.¥ A

2. % B

3.% C

4. % D

Question Number : 3 Question Id : 26723610643 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
‘Metal’ is related to ‘Sculptor’ in the same way as ‘Canvas’ is related to

(A) Painter

(B) Cloth

(C) Colours

(D) Painting
Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 3 Question Id : 26723610643 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Y PR ¥ I e JEfid & S FIO § T §

T REER

CICLE]

gh
Options:
1.9 A
2. % B
3.% C

4. %# D

Question Number : 4 Question Id : 26723610644 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



‘Fish’ is related to “Water’ in the same way as ‘Bird’ is related to

(A) Water

(B) Food

(C) Sky

(D) Air
Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 4 Question Id : 26723610644 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

TEdl W § 9 e e g o9 ruet ¥ gdfda @

(@) T
(&) @Ml
&t SET
(8 dg
Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 5 Question Id : 26723610645 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Choose the missing word in place of sign (?) on the basis of the relationship between

the words given

Calendar : Dates :: Dictionary : ?

(A) Vocabulary

(B) Language

(C) Words

(D) Book
Options:
1. A
2. % B
3. % C

4. % D

Question Number : 5 Question Id : 26723610645 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



fRT MU o=l & &9 & Red & MR W Thd (2) & ”H W AT
eg I

hoey: fofEl .. Ts=om:

(q) gat

(@) T

@ Usg

(Sh) TP

Options :
1.4 A
2. # B
3.%C

4. % D

Question Number : 6 Question Id : 26723610646 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
If LEAD is written as MFBE. How is DOWN written as?

(A) EPXO

(B) CNVM

(C) CPVO

(D) ENXM
Options:



1.9 A

3.%C

4. % D

Question Number : 6 Question Id : 26723610646 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

f¢ LEAD B MFBE & ©U H foRaT ST §1 pown @I $9 @ Wl 82

(T) EFX0

(@) CNVM

(gl CPVO

(3) ENXM
Options :
1.9 A

2. % B

3. % C

4. %D

Question Number : 7 Question Id : 26723610647 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Mamta is ranked sixteenth from the top and twenty ninth from the bottom among
those who passed an examination. Six students did not participate in the competition

and five failed in it. How many students were there in the class?

(A) 57

(B) 54

(C) 56

(D) 55
Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 7 Question Id : 26723610647 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

UF T U R4 adl § Aea O @ Oieedt R AR @ Iiat
¥H | gl B8 BE 7 g # ym T8 i iR U s Srwd
©l Fe1 # foad 33 Uo

@@ o7
@QI'] 54
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Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 8 Question Id : 26723610648 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Satish is 15 ranks above Sushil who ranks 28" in a class of 50. What is Satish’s rank

from, the bottom?

(A) 39

(B) 37

(C) 38

(D) 36
Options :
1.¥ A
2. # B
3.% C

4. % D

Question Number : 8 Question Id : 26723610648 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Ty T ¥ 15 3@ FW ¢ O 50 P P § 28 § WA | gl -
¥ g &1 ¥ A §2

@y 39

ta‘h 37

Options :
1. A
2. % B
3.% C

4. % D

Question Number : 9 Question Id : 26723610649 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A cube of side 10 cm is coloured red with a 2cm wide green strip along all the sides on

all the faces. The cube is cut into 125 smaller cubes of equal size. How many cubes

have three green faces each?

(A) O

(B) 4

(C) 8

(D) 16
Options :



1.9 A

3.%C

4. % D

Question Number : 9 Question Id : 26723610649 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

WA TREF W AATE T & o 95 & o W R
NG @ 2 I 9 &8 UEh B1 T WK AR F 125 B R N
Pl a1 gl fhad e § dF & U &12

(3 16
Options:
1.9 A
2. % B
3. % C

4. # D

Question Number : 10 Question Id : 26723610650 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A cube of side 10 cm is coloured red with a 2cm wide green strip along all the sides on
all the faces. The cube is cut into 125 smaller cubes of equal size. How many cubes

are without any colour?

(A) 64

(B) 27

€) 12

(D) o
Options :
1.¥A
2. % B
3. % C

4. % D

Question Number : 10 Question Id : 26723610650 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



I TS F W aaWd o & ol 95l & o |m R
G @ 2 I 9 &8 weh Bl T WR IR F 125 B R N
@I a1 g1 fhad ogeg fa 1 el 1 & g

(@ 64

@h O
Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 11 Question Id : 26723610651 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Sumesh, who is facing West turns 120° in the clockwise direction and then 165° in the

anticlockwise direction. Which direction is he facing now?
(A) North
(B) South-west
(C) West

(D) North-east



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 11 Question Id : 26723610651 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
g, S oW 1 G B @ 8, Fpags o A 120

TAdl § R R Cadimarse o= # 165 & g1 € 1. 9% oW
frw fo=m &1 9 &R | 2

(T JWt

@) gfamr ofge

@ uftm

@) IW @
Options :
1.9 A

2. % B

3. % C

4. % D

Question Number : 12 Question Id : 26723610652 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Pointing to a man, a woman said, “His mother is the only daughter of my mother.”

How is the woman related to the man?
(A) Mother
(B) Daughter
(C) Sister

(D) Grandmother
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 12 Question Id : 26723610652 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

T& 3eHl F1 R IR X U, U Hieel A Hgl, "IqD! A W A
Tt @I 3 Bl W Y ¥ Y Wl 2o

@ A
GGl
(w8
@ Tt
Options :

1.¥ A



3.%C

4. % D

Question Number : 13 Question Id : 26723610653 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Pointing to a man on the stage, Rashi said, “He is the brother of the daughter of the

wife of my husband.” How is the man on the stage related to Rashi?

(A) Son

(B) Husband

(C) Cousin

(D) Nephew
Options :
1.¥A

2. % B

3. % C

4. % D

Question Number : 13 Question Id : 26723610653 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



T W U6 Ifdd 3 SR IR d=d gU, WA A Fgl, a8 W ufd $
Udl P 9E BT YR gl IR Y GG HI W 3MeH B 82

(8h)  Hle
Options :
1.¥A

2. % B

3. % C

4. % D

Question Number : 14 Question Id : 26723610654 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Introducing a man to her husband, a woman said, “His brother’s father is the only son

of my grandfather.” How is the woman related to this man?
(A) Mother
(B) Aunty
(C) Sister

(D) Daughter
Options :

1.¥ A



3.%C

4. % D

Question Number : 14 Question Id : 26723610654 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

TF eH P I9F Ul 9 F@a §¢ @ AR A @I, "I9F UK &
i W g1 & 3P a¢ §lr W 39 Y F FY d&ha g

U@ H

I IEll

() T8

@h o9&
Options:
1.9 A
2. % B
3.% C

4. %# D

Question Number : 15 Question Id : 26723610655 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



If ‘DELHI" is coded as ‘73541" and ‘CALCUTTA' as ‘82589662’, how will ‘CALICUT' be

coded?

(A) 5279431

(B) 5978213

(C) 825189

(D) 8543691
Options :
1.¥ A

2. % B

3.% C

4. % D

Question Number : 15 Question Id : 26723610655 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
af¢ 'DELHI' @ '73541' R 'CALCUTTA' @I '82589662' & ®U H

Fifed fbar T 8, @ rcavicurt B HY Hifed o o

(@ 5279431
(@) 5978213
T 8251896
(dl) 8543691
Options :

1.¥ A



3.%C

4. % D

Question Number : 16 Question Id : 26723610656 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
In a secret way of writing, INDIA HAS WON FIRST GOLD MEDAL is written as JFZJU

OUV SEF PJDVB REQZ ITZUQ. Bearing the method in mind, pick up the code from the

answer choices for

FOOT

(A) BEEB

(B) CEEA

(C) PEEB

(D) SEEZ
Options :
1.¥A
2. % B
3. % C

4. % D

Question Number : 16 Question Id : 26723610656 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



89 & TP T TId 9, INDIA HAS WON FIRST GOLD MEDAL I
JFZJU OUV SEF PJDVB REQZ ITzUQ & ®U H for@r mar g1 oy &

o # W@d g, fwffed veg & i S et # @ @8 gl

FOOT

(T BEEB

(@) CEEA

(dty PEEB

(8l) SEEZ
Options :
1.¥A

2. % B

3. % C

4. % D

Question Number : 17 Question Id : 26723610657 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



| go 100 metres towards North from my house, then | turn left and go 200 metres, the
turning left | go 200 metres, then again turning left | go 100 metres, and then turning

left again | go 100 metres. In which direction am | now from my house?

(A) West

(B) East

(C) North

(D) South
Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 17 Question Id : 26723610657 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



T 30 W Y W B AR 100 Hiex B @ W o g, R F &
Tl § AR 200 Hiex o1 §, R ¢ gear § ok 200 T} O E,
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100 Hex ST §l o H omH W fhy fomn g2

@ TIEH

@
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@)
Options :
1.¥ A

2. % B
3.% C

4. % D

Question Number : 18 Question Id : 26723610658 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



For the questions given below, choose the most appropriate answer based on the
following:

Statement (1): Certain amount was collected as fees by the Union Government
on the sale of tobacco.

Statement (2): As per the state law, since some tobacco was sold in markets
and fairs, the company had to give some tax to the particular state.

(A) Tis the cause and II is the effect

(B) Il 1s the cause and | 1s the effect

(C) Both I and II are independent causes

(D) Both I and II are effects of common causes
Options :

1.¥ A

2. % B

3. % C

4. % D

Question Number : 18 Question Id : 26723610658 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. A
2. % B
3.% C

4. % D

Question Number : 19 Question Id : 26723610659 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



For the questions given below, choose the most appropriate answer based on the
following:

Statement (1): Large scale deforestation took place in several districts in the
north-eastern part of India.

Statement (2): Many tribal people were displaced from their forest shelters and
suffered a loss of livelihood.

(A) [1isthe cause and Il is the effect

(B) 11 is the cause and I is the effect

(C) Both I and II are independent causes

(D) Both I and II are effects of common causes
Options :

1.¥ A

2. % B

3. % C

4. % D

Question Number : 19 Question Id : 26723610659 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



4 fGr T ooy & forg, Pefefed & omR ® Ted IR TH:
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Options :

1.¥A

2. % B

3. % C

4. % D

Question Number : 20 Question Id : 26723610660 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Each question given below is followed by two arguments numbered I and 1.
You have to decide which of the following arguments a “strong” argument is

and which a “weak” argument is.

1. Statement: Should corporal punishment be banned in schools?

Arguments: |. No. Teachers as responsible adults can be trusted with

using the punishment only as a last resort, and on a case-
to-case basis.
[1. Yes. Hitting a student is only an easy way out to create
an image of trying to change the student, whereas there
are better options available for fundamentally changing
the behaviour of the student.

(A) Ifonlyargument [ is strong

(B) If only argument II is strong

(C) If neither I nor I1 is strong

(D) If both I and II are strong
Options:

1.¥A

2. % B

3.% C

4. # D

Question Number : 20 Question Id : 26723610660 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.4 A

2. # B

3.%C

4. % D

Question Number : 21 Question Id : 26723610661 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Jallianwala Bagh massacre occurred on?

(A) January 30, 1918

(B) April 13,1919

(C) August 14, 1920

(D) July 3, 1930
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 21 Question Id : 26723610661 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

iferdidTe SN gAIBiE BE g2

T 30 SAGY, 1918

@ 13 W, 1919

@) 14 T, 1920

@) 3 IEE, 1930

Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 22 Question Id : 26723610662 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which among the following states, according to 2011 census, has the least

population?

(A) Haryana

(B)  Sikkim

(C) Goa

(D) Manipur
Options:

1.9 A

2. % B

3.%C

4. %# D

Question Number : 22 Question Id : 26723610662 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



2011 @ AT & oER, Fefifed T # ¥ fowe! snden qe

HH 82
) e
@ ffesn
(@) Tt

Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 23 Question Id : 26723610663 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following causes acid rain?

(A) Carbon dioxide

(B) Chlorofluoro Carbon

(C) Sulphur Dioxide

(D) Hydro carbon
Options :



1.9 A

3.%C

4. % D

Question Number : 23 Question Id : 26723610663 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Fufafed & ¥ &9 I acid 99 &1 SRU §9d7 B2

(T DET SRIANES

@) FERIGART PIe

T G SRHeEsS

(&) BIES! PIeA
Options:

1.¥ A

2. % B

3.%C

4. %# D

Question Number : 24 Question Id : 26723610664 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Lunar Eclipse is caused when the:

(A) Moon comes between the Sun and the Earth

(B) Earth comes between the Sun and Moon

(C) Sun comes between Earth and Moon

(D) None of the above
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 24 Question Id : 26723610664 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
d% T80 d¢ §idl § 4:

(@) A GY SR gt & & ol @

@ gt g ek @ & &9 ot §
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Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 25 Question Id : 26723610665 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which state has the highest literacy rate in the country?

(A) Goa

(B) Kerala

(C) Tamil Nadu

(D) Karnataka
Options:

1.9 A

2. % B

3.% C

4. %# D

Question Number : 25 Question Id : 26723610665 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



29 # g Tsu # wieRdr ) ged ot B2

(3l FAled
Options :
1.¥ A

2. % B

3.% C

4. % D

Question Number : 26 Question Id : 26723610666 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Jharkhand does not share boundary with:

(A) West Bengal

(B) Odisha

(C) Chhattisgarh

(D) Madhya Pradesh
Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 26 Question Id : 26723610666 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
IRES & I U\ W= G Rl

R B R

@ A Uy

Options :
1.¥ A
2. % B
3.% C

4. %D

Question Number : 27 Question Id : 26723610667 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The term “Googly” is associated with ?

(A) Cricket

(B) Football

(C) Badminton

(D) Hockey
Options :
1.¥ A

2. % B

3.% C

4. % D

Question Number : 27 Question Id : 26723610667 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

"IATAl eG fhEd A1y TST 83T €2

) fode
@) P
& Ssfied
(&) BTl
Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 28 Question Id : 26723610668 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
How is COVID-19 passed on?

(A) Through droplets that come from your mouth and nose when you cough or breathe

out

(B) In sexual fluids, including semen, vaginal fluids or anal mucous

(C) By drinking unclean water

(D) Allof the above
Options:

1.9 A

2. % B

3.% C

4. %# D

Question Number : 28 Question Id : 26723610668 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



COVID-19 $Y Tadl 82

@) G G o W 0P HE SR AP ¥ M dwell §al & AiedH 9
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Options :
1.¥A

2. % B

3. % C

4. % D

Question Number : 29 Question Id : 26723610669 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which state has the largest coastline in India?

(A) Gujarat

(B) Tamil Nadu

(C) Karnataka

(D) Andhra Pradesh
Options :
1.¥A

2. % B



3.% C

4. %D

Question Number : 29 Question Id : 26723610669 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

URd H f5g Tog A Ted S 90 @ 82

(& offYy uew

Options:
1.9 A
2. % B
3.% C

4. %# D

Question Number : 30 Question Id : 26723610670 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which of the following latitudes passes through India?

(A) Equator

(B) Arctic Circle

(C) Tropic of Capricorn

(D) Tropic of Cancer
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 30 Question Id : 26723610670 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

fofifed el (latitudes ) § § @M W YRd ¥ BIR ToRdl &2

T YA @
@ bRE T
@ HER X
I sl
Options :
1.V A

2. % B



3.% C

4. % D

Question Number : 31 Question Id : 26723610671 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The first and the last parts of the sentence are numbered 1 and 6. The rest of the
sentence is split into four parts and named P, Q, R, and S. These four parts are not
given in their proper order. Read the sentence and find out which of the four
combinations is correct. Then find the correct answer.

I.  India’s uniqueness lies in its unity in diversity.
P. So the problems of India should not be viewed in isolation.
Q. Because of this factor, there are problems here and there at times.

R. India is a multi-religious, multicultural and multilingual country.
S. But even small countries with monolithic society have more problems.

6. And India is poised for success in all fields.

(A) PSRQ

(B) QSPR

(C) SRQP

(D) RaSP
Options :
1.+ A
2. % B
3.% C

4. % D



Question Number : 31 Question Id : 26723610671 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

The first and the last parts of the sentence are numbered
1 and 6. The rest of the sentence is split into four parts
and named P, Q, R, and 5. These four parts are not given
in their proper order. Read the sentence and find out
which of the four combinations is correct. Then find the
gcorrect answer,

1. India’'s uniqueness lies in its unity in diversity.
P. So the problems of India should not be viewed in
isolation.

Q. Because of this factor, there are problems here and

there at times.

R. India 1s a multi-religious, multicultural and

multilingual country.

8. But even small countries with monolithic society have

more  problems.

6. And India is poised for success in all fields.

(A) PSRQ
(B) QSPR
(C) SRQP
(D) RQSP
Options :
1.¥ A

2.%B

3.% C



Question Number : 32 Question Id : 26723610672 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

The first and the last parts of the sentence are numbered 1 and 6. The rest of the
sentence is split into four parts and named P, Q, R, and S. These four parts are not
given in their proper order. Read the sentence and find out which of the four
combinations is correct. Then find the correct answer.

l. Pollution is one of the evils brought about by the growth of science.

P. Air pollution has very harmful effects.

Q. They pollute the air and the atmosphere.

R. It is making the environment, water and air dirty.

S, Factories and industries keep throwing out smoke which contains toxic gases.
6. People living in the surroundings breathe the impure air and are affected by the

diseases of the lungs and heart.

(A) PSQR

(B) RPSQ

(C) QPsR

(D) SPQR
Options :
1.¥ A
2. % B
3.% C

4. % D



Question Number : 32 Question Id : 26723610672 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

The first and the last parts of the sentence are numbered
1 and 6. The rest of the sentence is split into four parts
and named P, Q, R, and S§. These four parts are not given
in their proper order. Read the sentence and find out
which of the four combinations is correct. Then find the
correct answer.

; Pollution is one of the evils brought about by the

growth of science.

P. Air pollution has very harmful effects.

Q. They pollute the air and the atmosphere.

R. It is making the environment, water and air dirty.
i Factories and industries keep throwing out smoke

which contains toxic gases.

6. People living in the surroundings breathe the impure
air and are affected by the diseases of the lungs and
heart.

(A) PSQR

(B) RPSQ

(C) QPSR

(D) SPQR

Options:

1.¥v A

2. % B

3. % C

4. %D



Question Number : 33 Question Id : 26723610673 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Select the word in the pair, which has the same relationship as the first pair of words.

Country : President :: State : ?

(A) Governor

(B) Minister

(C) Chief Minister

(D) Citizen
Options :
1.¥A
2. % B
3. % C

4. % D

Question Number : 33 Question Id : 26723610673 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Select the word in the pair, which has the same
relationship as the first pair of words.

Country : President :: State : ?

(&) Governor

(B) Minister

(C} Chief Minister

(D) Citizen
Options :

1. A
2. % B
3.% C

4. % D

Question Number : 34 Question Id : 26723610674 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Select the word in the pair, which has the same relationship as the first pair of words.

Tehran : Iran :: Beijing : ?

(A) China

(B) Japan

(C) Turkey

(D) Malaysia
Options :



1.+ A

3.% C

4. % D

Question Number : 34 Question Id : 26723610674 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Select the word in the pair, which has the same
relationship as the first pair of words.

Tehran : Iran :: Beijing : ?
() China
(B) Japan
(C) Turkey

(D) Malaysia
Options:

1.¥A

2. % B

3.% C

4. # D

Question Number : 35 Question Id : 26723610675 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Find the correctly spelt word as your answer.

(A) Successful

(B) Sucessful

(C) Succesful

(D) Successfull
Options :

1.¥A

2. % B

3.%C

4. % D

Question Number : 35 Question Id : 26723610675 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Find the correctly spelt word as your answer.

() Successful

(B) Sucessful

(C) Succesful

(D) Successfull
Options:

1.¥A
2. % B
3.% C

4. # D



Question Number : 36 Question Id : 26723610676 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Find the correctly spelt word as your answer.

(A) Consistency

(B) Consistancy

(C) Consistensy

(D) Consistansy
Options :

1.¥A

2. % B

3.% C

4. % D

Question Number : 36 Question Id : 26723610676 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Find the correctly spelt word as your answer.

() Consistency

(B) Consistancy

(C}] Consistensy

(D) Consistansy

Options :



1.9 A

3.%C

4. % D

Question Number : 37 Question Id : 26723610677 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Pick up the correct synonym of the following word

Infrequent

(A) Slow

(B) Usual

(C) Rare

(D) Sometimes
Options :

1.9 A

2.% B

3. % C

4. % D

Question Number : 37 Question Id : 26723610677 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Pick up the correct synonym of the following word

Infrequent

(A) Slow
(B) Usual
(C) Rare

(D) Sometimes
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 38 Question Id : 26723610678 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Pick up the correct synonym of the following word

Admit
(A) Decide
(B) Realise
(C) Accept
(D) Commit
Options :

1.+ A



3.%C

4. % D

Question Number : 38 Question Id : 26723610678 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Pick up the correct synonym of the following word

Bdmit

(A) Decide

(B) Realise

(C) Accept

(D) Commit
Options :

1.¥A
2. % B
3.%C

4. % D

Question Number : 39 Question Id : 26723610679 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Choose the one which best expresses the meaning of the given word.

Concise

(A) Strong

(B) Solid

(C) Brief

(D) Small
Options :
1.¥v A
2. % B
3.% C

4. % D

Question Number : 39 Question Id : 26723610679 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Choose the one which best expresses the meaning of the
given word.

Concise
(A) Strong
(B) Solid
(C) Brief
(D) Small
Options :

1.9 A



3.%C

4. % D

Question Number : 40 Question Id : 26723610680 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks choosing the suitable option :

The bad weather only our difficulties.

(A) Addin

(B) Add over

(C) Added to

(D) Added in
Options :
1.¥ A

2. % B

3. % C

4. % D

Question Number : 40 Question Id : 26723610680 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blanks choosing the suitable option

The bad weather only cour difficulties.

(A) Add in

(B) Add over

(C) Added to

(D) Added in
Options:

1.¥ A
2. % B
3.% C

4. % D

Question Number : 41 Question Id : 26723610681 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks choosing the suitable option :

The strike will be tomorrow.

(A) Called off

(B) Called for

(C) Calledon

(D) Call off
Options :

1.¥ A



2. % B
3.% C

4. % D

Question Number : 41 Question Id : 26723610681 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks choosing the suitable option

The strike will be tomorrow.

(A) Called off

(B} Called for

(C} Called on

(D} Call off
Options :

1.¥A
2. % B
3.% C

4. % D

Question Number : 42 Question Id : 26723610682 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blanks choosing the suitable option :

He sugar.

(A) Deal with

(B) Deal out

(C) Dealsin

(D) Deal off
Options :
1.¥ A

2. % B

3. % C

4. % D

Question Number : 42 Question Id : 26723610682 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks choosing the suitable option

He sugar.

(A) Deal with

(B} Deal out

(C) Deals in

(D) Deal off
Options :

1.¥A



3.%C

4. % D

Question Number : 43 Question Id : 26723610683 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Read A,B,C and D in sequence as a complete sentence. Find out the error part.

(A) The customer

(B) handed over

(C) ahundred rupees note

(D) to the shopkeeper.
Options :

1. A

2.%B

3. % C

4. % D

Question Number : 43 Question Id : 26723610683 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Read A,B,C and D in sequence as a complete sentence. Find

out the error part.

(A) The customer

(B) handed over

(C) a hundred rupee note

(D) to the shopkeeper.
Options:

1.¥A

2. % B

3.% C

4. % D

Question Number : 44 Question Id : 26723610684 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Read A,B,C and D in sequence as a complete sentence. Find out the error part.

(A) There

(B) was

(C) aboy’s college

(D) inmy village.
Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 44 Question Id : 26723610684 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Read A,B,C and D in sequence as a complete sentence. Find

out the error part.

(A) There

(B) was

(C) a boy's college

(D) in my village.
Options :

1.¥ A

2. % B

3. % C

4. %D

Question Number : 45 Question Id : 26723610685 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blanks choosing the suitable option :

Had Anil been on time, he missed the train.

(A) Would not have been

(B) Had not

(C) Will not have

(D) Would not have
Options :

1.¥A

2. % B

3.% C

4. % D

Question Number : 45 Question Id : 26723610685 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks choosing the suitable option :

Had Anil been on time, he missed the train.

(&) Would not have been

(B} Had not

(C) Will not have

(D} Would not have
Options :

1.¥A



3.%C

4. % D

Question Number : 46 Question Id : 26723610686 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
T T T TS v 8-

(A) H&hd

(B) BRI

(C) auf

(D) PHeA

Options :
1.9 A
2. % B
3. % C

4. % D

Question Number : 46 Question Id : 26723610686 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



(D)  Hed

Options:
1.¥ A
2. % B
3.% C

4. % D

Question Number : 47 Question Id : 26723610687 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

T “fRga P A T A Fefia g |

(A) dHH

(B) dd

(C) fae=h

(D) <3S

Options :
1.+ A

2. % B



3.% C

4. %D

Question Number : 47 Question Id : 26723610687 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Yeg ~f@SFH 1 o F J&fa 7 |

(D) RIS

Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 48 Question Id : 26723610688 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



“HRAIGT Weg D 4 o A Yt TG & - T fAded BT I97 B |
(A) TIRHIYS
(B) Uff®
(©) drEg

(D) HHA
Options :
1.¥A

2. % B

3. % C

4. % D

Question Number : 48 Question Id : 26723610688 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

“HAR e HF ¥ 91 § U9y W1 ¢ - Tol [9hed & T P |

(D) EHg
Options :

1.¥ A

2. % B



3.% C

4. %D

Question Number : 49 Question Id : 26723610689 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

“TRRET Weg BT I Mg |

(A) G

(B) ®wdfed

(C) Iwdd

(D) i

Options :
1.¥ A
2. % B
3.% C

4. %D

Question Number : 49 Question Id : 26723610689 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



(C) I=gd

(D) i

Options:
1.¥ A
2. % B
3.% C

4. % D

Question Number : 50 Question Id : 26723610690 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

SNl 3fd8Td BIa I Ugd BI 81° - 3D [0 JUGA Veg BT I BIToTd |

(A) UfogRee
(B) unifagiie
(C) sfdei®

(D) RIS

Options :
1.¥ A

2. % B



3.% C

4. % D

Question Number : 50 Question Id : 26723610690 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
'Sl 3fde B § Ugd B g - 3¢ fou I0gd s I 99

Sy |

(2)  Ufogie
(B)  umfagie
(c)  zfaerfe

(D) WIS

Options :
1. A
2. % B
3. % C

4. % D

Question Number : 51 Question Id : 26723610691 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



<greft T foa fafd F feret a8 2

(A) WA

(B) <@IR

(C) BRI

(D) TBgHE!

Options:
1.¥ A
2. % B
3.% C

4. % D

Question Number : 51 Question Id : 26723610691 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Auredl W few it d Rt ordt @ -

(D) TR

Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 52 Question Id : 26723610692 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

HH0 & fad ST EA T 2

(A) @

(B) 9R

(C) dHF

(D) U
Options:
1.¥A
2. % B
3.% C

4. % D

Question Number : 52 Question Id : 26723610692 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



HTHI0 & fobde 3 B § °

(D) U=
Options :

1.¥A
2. % B
3.% C

4. % D

Question Number : 53 Question Id : 26723610693 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

T Weg b1 HfYY fawsg g -

(A)  g+3ifd
(B) W+ 3
(C) 9d+ 3R
(D) @+ 3R
Options :

1.4 A

2. % B



3.% C

4. %D

Question Number : 53 Question Id : 26723610693 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

"W Weg P GY I BT -

(A) g +oifd
(B) @ + o
(C)  wg + IIfRa
(D) @l + 3%
Options:

1.4 A

2.%B

3.% C

4. % D

Question Number : 54 Question Id : 26723610694 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



PHIeg P1 ad gHT - eTak & oY et 31l &1 997 B

(A) T gad @

(B) oA S AT

(C) fEFTasmdan T

(D) Pieg d 9§
Options:

1.¥A

2. % B

3.% C

4. % D

Question Number : 54 Question Id : 26723610694 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

BIeg B o0 gAY - TR & [ w8 ol @1 T S

(2)  f&9 Id I@d Ww|A

(B)  feA-3d & T <&

() f& Td oM # T T/

(D) Pleg # od &
Options :
1.¥ A

2. % B



3.% C

4. % D

Question Number : 55 Question Id : 26723610695 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

WE G B THTQ T 3 e F T AY 2 IUYS TR & R W
3 Jfd FfTY |

(A) TS qd IETE

(B) UIYS STl

(C) Bab geHI

(D) SR

Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 55 Question Id : 26723610695 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Iugad eIk ¥ Raa =M @t ufd @i |
() 7§ TS IFEA
(B) TUUS oI

(C) Tdh GgMI

(D) St TR

Options:
1.¥A
2. % B
3.% C

4. # D

Question Number : 56 Question Id : 26723610696 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

TG GG ST I 39 Ufgd A B - T TR G 2

(A) TJHD

(B) SfTURT

(C) 3UHT

(D) HFEAIHRI
Options :

1.¥A



3.%C

4. % D

Question Number : 56 Question Id : 26723610696 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

“Jyufd I9d TS IH7 39 UlGd H PH - I EPR B 2

(&) JHD

(B) U

(C)  3uHAm

(D)  HFEIH

Options :
1.¥ A
2. # B
3.% C

4. % D

Question Number : 57 Question Id : 26723610697 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



313 el BT I 39 H AN ¢ |

(A) FHYRY THA

(B) sy IHN

(C) SeTdtHE Ta™

(D) f&7 Fmr
Options:
1.¥ A

2. % B

3.% C

4. % D

Question Number : 57 Question Id : 26723610697 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
“HIE AT BT FHg” 39 H 99N § |

(B) HHYRY TIH

(B) Aoy GHIY

(C)  SegdiyTg I

(D) g w9
Options :
1.¥ A

2. % B



3.% C

4. % D

Question Number : 58 Question Id : 26723610698 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

T S A oIt H T - T el o B
(A) LS eARAT NG |
(B) TRt g g |
(C) Mg HYCIE |

(D) AT TR |
Options :

1.¥A

2. ¥ B

3.% C

4. % D

Question Number : 58 Question Id : 26723610698 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



w9 Al Herdt | T -eeifed b1 gl ol §

B) PG e A WA MR |

(B) 79 3R ot t 9O ¢ |

(€) M T P YS ?

(D) M & T LS T § |

Options:
1.¥ A
2. % B
3.% C

4. % D

Question Number : 59 Question Id : 26723610699 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Ol S 96 A Hd & d UM 78] 8] 9hd- T Bl P A I VS & |

(A) HIYRU gy

(B) UHArdd dIg

(C) fayarm

(D) HYd I
Options:

1.¥A



2. % B
3.% C

4. % D

Question Number : 59 Question Id : 26723610699 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
S §= 9P B & d U9 6l 8 Ghd- TG B P I a9 VG

g |

(A) YR d1H]

(B) UHdrEsD dI1H

(c) oy g™

(D) Wad ar

Options :
1.4 A
2. # B
3.%C

4. % D

Question Number : 60 Question Id : 26723610700 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



“qYTe eg b o AT Weg 01|

(A) ggreHl

(B) wHwi

(€)

(D) WERF!

Options :
1.¥A
2. % B
3.% C

4. # D

Question Number : 60 Question Id : 26723610700 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

gYUCr  Weg & AU WM sg BN |

()  gHreH!
(B) TymRl
(C) At
(D)  HERMI
Options :
1.¥ A

2. % B



3.%C

4. % D
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